
General form of augmented error
Calling the regularizer Ω = Ω(h), we minimize

Eaug(h) = Ein(h) +
λ

N
Ω(h)

Rings a bell? ↓ ↓

Eout(h) ≤ Ein(h) + Ω(H)

Eaug is better than Ein as a proxy for Eout
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Outline
• Regularization - informal
• Regularization - formal
• Weight de
ay
• Choosing a regularizer
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The perfe
t regularizer Ω

Constraint in the `dire
tion' of the target fun
tion (going in 
ir
les )
Guiding prin
iple:Dire
tion of smoother or �simpler�
Chose a bad Ω?We still have λ!
regularization is a ne
essary evil
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